= A w A VN

B ECEIIREIIIEFEANEILL),

@ 105000kg = t
@ 10600kg = t kg
@ 18800kg = t kg
@ 170t = kg

® 80t400kg = kg
® 1005kg = t kg
@ 1t3kg = kg
2420kg = t kg
@ 3200kg = t kg
4t700kg = kg
@ 1310kg = t kg
@ 1050kg = t kg

/24

® 5t9kg = kg
@ 800000kg = t
® 18000kg = t
10t200kg = kg
@ 250t = kg

It I10kg = kg

| 6t400kg = kg
@ 5t990kg = kg
@) 1t400kg = kg
@ T7t60kg = kg
@ 91t300kg = kg
@ 290000kg = t




= A w A VN

B ECEIIREIIIEFEANEILL),

@D 105000kg = 105 t
@ 10600kg =| 10 t 600 kg
@ 18800kg = | 18 t 800 kg
@ 170t =| 170000 kg

® 80t400kg =| 80400 kg
® 1005kg =| | t 5 kg
@ 1t3kg = 1003 kg
2420kg =| 2 t 420 kg
@ 3200kg =| 3 t 200 kg
4t700kg = 4700 kg
@ 1310kg = | t 310 kg

@ 1050kg =| | t 50 kg

/24

® 5t9kg = 5009 kg
@ 800000kg = 800 t
® 18000kg = K t
10t200kg =| 10200 kg
@ 250t =| 250000 kg

It 10kg = 1010 kg
|6t400kg = 16400 kg
@ 5t990kg = 5990 kg
@ 1t400kg = 1400 kg
@ Tt60kg = 7060 kg
@ 91t300kg =| 91300 kg
@ 290000kg = 290 t




